7. KERRILE

T =5 b FIT(E gt/ Fig L i) N 7w % TAEA
i) Ol 58 Bl e — =k T2 per Eu
p lﬁﬁmﬁaﬁi %Tfﬁm%% igg At 5e56 | 6 1004E A G A T H3. 9
,?7§Kﬁgja7k%%%1%glg REATH TR | o T5FEX 629m Bl A AR s T H 5. 12
OB U RN v v T % | ¢ T5HEX1480m FA 7K A H7 5
‘Z‘a‘ﬁﬁ”éay@g%gigzi BEACTH JT#E | ¢ 100X 309m Wig KB A AR T H1l. 2
ﬁ;?&%%ii%%i%; ReAT 5izh | 6 300EEX 295m e Ak T HIL 8
BEAKE ¢ THFEX890m
- \ : - .  150%E X 294m e
S I % i‘H_jA IIIALD'TJ Tuﬁ T7kﬁ%’5’¢150ﬁ><784m ﬁajk ‘F7k]EEﬁDXI$: Hll 8
¢ 2004E X 400m
H(; 13'*; ﬁ?ﬂj%jﬁ%gig BE AT T | ¢ 100X 551m KA T H14. 9
A6 T OH 5 & AT s — -+ | ¢ HOFEXS83.5m o
o SORERL AR TE | T TS o5kEx 1 sm AR . 3
BB 1 H & 100%E X 155. Tm o
5 W00 FER KR A TF | feRm | ek |olookexzors o HKDAIECE His. 3
fth 1 lGs * o 100E X 254 31 " =




